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FOR GOD AND COUNTRY

Class:7 Subject : GEOGRAPHY Term : FIRST TERM Max Marks : 60

Q1: The manufacturing sector is considered to be the backbone of a country’s Marks: 1
1. cultural development
2 . economic development |Zl ( This Answer is Correct )
3. political development

4 . academic development

Q2: Which of the following country lies to the west of Switzerland? Marks: 1

1. Germany
2. Austria
3. France |Zl ( This Answer is Correct )

4 . ltaly

Q3: What is the basic material from which a product is made called? Marks : 1

1. waste material
2 . used material

3 . raw material E ( This Answer is Correct )

4 . trivial material

Q4: Name the major mountain ranges of Switzerland other than the Alps. Marks: 1
1. Jura m ( This Answer is Correct )
2. Vosges
3. Garda

4 . Ural

Q5: Which of the following is not an element of weather and climate? Marks: 1
1 . moonlight |Zl ( This Answer is Correct )
2. cloud
3. sunshine

4 . wind
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Q6: Which of the following is not an agro based industry? Marks :
1. sugar
2. tea
3. silk
4 . cement E ( This Answer is Correct )

Q7: Which river along with the Rhone flows through Switzerland? Marks :
1. Volga
2 . Rhine E ( This Answer is Correct )
3. Dnieper
4. Ural

Qs: What is the study of weather called? Marks :
1. Hydrology
2. Geology
3 . Meteorology |Zl ( This Answer is Correct )
4 . Aerology

Q9: Name the highest peak of the Swiss Alps. Marks :
1. Monte Leone
2 . Monte Rosa E ( This Answer is Correct )
3. Monte Viso
4 . Monte Tendre

Q10: The intensity of heat is expressed as - Marks :
1. precipitation
2 . humidity
3 . temperature E ( This Answer is Correct )
4 . pressure
Q11: Cotton textile and food processing industries are Marks :

2.
3.

marine based
forest based

mineral based

4 . agro based

|Zl ( This Answer is Correct )
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Q12: Which type of vegetation dominates Switzerland? Marks :
1. Mangrove
2. Desert
3. Alpine |Zl ( This Answer is Correct )
4. Tundra
Q13: Industrial size refers to the number of people employed and the amount of Marks :
1. power utilized
2. money invested E ( This Answer is Correct )
3. product exported
4 . raw material procured
Q14: Which of the following is not considered as an official language of Switzerland? Marks :
1. German
2. ltalian
3. French
4 . Dutch E ( This Answer is Correct )
Q15: Who invented the Six’s Thermometer? Marks :
1. Jimmy Six
2 . James Six E ( This Answer is Correct )
3. Jeremy Six
4 . Jamie Six
Q16: Namrup and Bongaigaon are noted for Marks :
1. iron & steel industries
2. pulp & paper industries
3 . petrochemical industries E ( This Answer is Correct )
4 . travel & tourism industries
Q17: What type of climate thrives in the higher altitude of the Swiss Alps? Marks :
1 . Tundra climate E ( This Answer is Correct )
2. Mediterranean climate
3. Desert climate
4 . Steppe climate
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Q18: How is the nature of air when the temperature is low? Marks : 1
1. heavier & thinner
2. Lighter & denser
3 . heavier & denser |Zl ( This Answer is Correct )

4 . Lighter & thinner

Q19: What is the full form of HAL? Marks : 1
1. Hindustan Aerometrics LTD
2 . Hindustan Aerostatics LTD
3. Hindustan Aerobatics LTD

4 . Hindustan Aeronautics LTD |Zl ( This Answer is Correct )

Q20: When was the Swiss National Park founded? Marks : 1
1. 1stApril 1914
2 . 1st August 1914 |Zl ( This Answer is Correct )
3. 1st April 1940

4 . 1st August 1940

Q21: Name the device used for measuring the speed of the wind. Marks: 1
1 . Anemometer E ( This Answer is Correct )
2. Altimeter

3. Ammeter

4 . Algometer
Q22: Tourism in Switzerland has encouraged hotels to develop in the canton of Marks: 1
1 . Grisons |Zl ( This Answer is Correct )
2. Ticino
3. Glarus
4. Luzern
Q23: Which of the following is not a Private sector industry? Marks : 1

1. Tata Steel Ltd
2 . Dabur India Ltd
3. Reliance Industries Ltd

4 . Coal Authority of India Ltd E ( This Answer is Correct )
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Q24: Which of the following is not a winter sport enjoyed by the tourists in Switzerland? Marks :
1. hiking
2. cycling
3 . yachting |Zl ( This Answer is Correct )
4 . skiing
Q25: Winds are usually named on the basis of their Marks :
1. thermal condition
2 . direction of destination
3. time of blowing
4 . direction of origin @ ( This Answer is Correct )
Q26: The name ‘Valley of Shepherds’ is given to the meadows of Marks :
1 . Pahalgam |Zl ( This Answer is Correct )
2. Pulwama
3. Patnitop
4. Punch
Q27: What is the amount of moisture present in the atmosphere termed? Marks :
1. cloud
2. rainfall
3. mist
4 . humidity |Zl ( This Answer is Correct )
Q28: What is a terrain formed by the action of the underground water on limestone region called? Marks :
1. Aeolian topography
2 . Fluvial topography
3 . Karst topography E ( This Answer is Correct )
4 . Glacial topography
Q29: How are the cloudy days? Marks :

1.

2

3.
4.

cold and humid
. hot and humid
cold and dry

hot and dry

|Zl ( This Answer is Correct )
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Q30: State the full form of SEZ. Marks :
1. Special Education Zone
2 . Special Electronic Zone
3 . Special Economic Zone |Zl ( This Answer is Correct )
4 . Special Entertainment Zone
Q31: Lake Geneva is shared by the countries of Switzerland and Marks :
1. Germany
2. ltaly
3. Austria
4 . France |Zl ( This Answer is Correct )
Q32: Which of the following activity does not emit smoke? Marks :
1. smelting of iron
2 . manufacturing of paper
3. burning of coal
4 . stitching of shawl |Zl ( This Answer is Correct )
Q33: The lakes Geneva and Neuchatel are located at the northern foothills of the Marks :
1. Taunus
2. Jura E ( This Answer is Correct )
3. Alps
4. Vosges
Q34: Which of the following is a form of precipitation? Marks :
1. fog
2. mist
3. sleet E ( This Answer is Correct )
4. dew
Q35: Mitteland is described as Switzerland’s Marks :

1.

2

3.
4.

Commercial Heartland

. Agricultural Heartland

Cultural Heartland

Industrial Heartland

|Zl ( This Answer is Correct )
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Q36: Name the puffy clouds that block the incoming solar & lunar light resulting in the absence of shadows. Marks :
1. stratus
2. cirrostratus
3 . altostratus |Zl ( This Answer is Correct )
4 . nimbostratus
Q37: Switzerland ranks as the top adventure destination in Europe because of its Marks :
1. desert resorts
2. valley resorts
3. marine resorts
4 . mountain resorts @ ( This Answer is Correct )
Q38: The device for measuring humidity is also called the wet and dry bulb Marks :
1. hydrometer
2 . thermometer |Zl ( This Answer is Correct )
3. algometer
4 . barometer
Q39: Maruti Suzuki Company is enlisted under Marks :
1 . Joint sector E ( This Answer is Correct )
2. Public sector
3. Cooperative sector
4 . Private sector
Q40: The lakes located in the plateau region are Constance and Marks :
1. Brienz
2. Lugano
3. Zurich E ( This Answer is Correct )
4. Biel
QM: What are the masses of tiny water droplets or tiny ice crystals that float in the air called? Marks :
1. mist
2. fog
3. dew
4 . clouds |Zl ( This Answer is Correct )
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Q42: Switzerland has a unique geographical location with Marks :
1. beautiful sand dunes
2 . beautiful lakes |Zl ( This Answer is Correct )
3. beautiful islands
4 . beautiful valleys
Q43: Name the small, rounded white puffy clouds existing individually or in long rows. Marks :
1. cumulus
2. altocumulus
3 . cirrocumulus E ( This Answer is Correct )
4 . stratocumulus
Q44: Lord Byron and Percy Shelley spent considerable time writing poetries by the Marks :
1. Lake Onega
2. Lake Zurich
3. Lake Ladoga
4 . Lake Geneva E ( This Answer is Correct )
Q45: Where was the first meteorological observatory established on 17857 Marks :
1. Madras
2. Delhi
3. Bombay
4 . Calcutta |Zl ( This Answer is Correct )
Q46 : Where in India Muga silk is produced? Marks :
1. Assam |Zl ( This Answer is Correct )
2. Kerala
3. Gujarat
4 . Kashmir
Q47: Where does the river Rhine terminate? Marks :
1 . North Sea E ( This Answer is Correct )
2. White Sea
3. Black Sea
4 . Adriatic Sea
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Q48: Mineral based industries are located near the source of raw materials as they are Marks :
1. costly
2 . perishable
3 . bulky |Zl ( This Answer is Correct )
4 . fragile
Q49: The close proximity to which of the following determines the location of an industry? Marks :
1. tram depot
2 . railway station |Zl ( This Answer is Correct )
3. bus terminus
4 . taxi booth
Q50: Atmospheric humidity is measured with a Marks :
1 . Hygrometer |Zl ( This Answer is Correct )
2. Heliometer
3. Hydrometer
4 . Hypsometer
Q51: Which two SEZs are located in the state of Gujarat? Marks :
1. Kandla & Surat |Zl ( This Answer is Correct )
2. Falta & Kandla
3. Noida & Surat
4 . Kandla & Noida
Q52: Weather is the day to day condition of the Marks :
1. lithosphere
2 . atmosphere |Zl ( This Answer is Correct )
3. cryosphere
4 . hydrosphere
Q53: To express the amount of cloud cover the unit of measurement used is Marks :
1. okta |Zl ( This Answer is Correct )
2. cusec
3. lux
4 . degree
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Q54: Atmospheric pressure is measured with a Marks :
1. Anemometer
2. Zymometer
3. Hygrometer
4 . Barometer E ( This Answer is Correct )
Q55: Which of the following is a small scale industry? Marks :
1. mining
2 . weaving E ( This Answer is Correct )
3. engineering
4 . lumbering
Q56: What are the imaginary lines drawn on maps joining places having equal air pressure called? Marks :
1. Isonephs
2 . Isobars |Zl ( This Answer is Correct )
3. Isohyets
4 . Isodose
Q57: The large scale industries build townships to accommodate their Marks :
1. friends
2. parents
3 . workers |Zl ( This Answer is Correct )
4 . rivals
Q58: What is introduced by the Government for encouraging industrial growth in the backward areas? Marks :
1. taximpositions
2 . tax abolitions
3. tax penalties
4 . tax benefits E ( This Answer is Correct )
Q59: Which of the following is an industrial township? Marks :

1 . Durgapur

2. Bolepur
3. Chandipur
4 . Jaunpur

E ( This Answer is Correct )
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Q60: Why in India the small scale industrial growth greatly suffered during the British rule? Marks : 1
1. workers were paid adequate wages
2 . workers were paid inadequate wages |Zl ( This Answer is Correct )
3. workers were paid over adequate wages

4 . workers were not paid wages
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